PARTS LIST

ITEM|QTY PART NUMBER DESCRIPTION STOCK NUMBER
1 2 TB-200-707 845 X 145 X 45 COMTIMSAWO0O005
2 1 |TB-200-248 1088 X 145 X 45 COMTIMSAWO0O005
3 1 |TB-200-894 1950 X 145 X 70 COMTIMSAWO0003
4 5 |TB-200-895 888 X 120 X 33 COMTIMSAWO0017
5 5 TB-200-896 748 X 45 X 45 COMTIMSAWO0007
6 1 |TB-200-934 1950 X 145 X 70 COMTIMSAWO0003
7 1 |RS-100-070 CLIMBING ROPE COMNETROP0002
8 1 |PE-400-140 1900 X 888 TREADSAFE DECK COMPOLO0018
9 2 |U-SHAPE POST FOOT POST FOOT COMSTEMIS0026
10 | 12 ‘M4 X 50 TORX WOODSCREW M4 X 50 TORX WOODSCREW COMA2WS4X50
11 | 25 |M4 X 70 TORX WOODSCREW M4 X 70 TORX WOODSCREW COMA2WS4X70
12 6 M8 X 50 TORX WASHER HEAD 50MM WASHER SCREW COMA2WHS8X50
13 8 M8 X 70 TORX WASHER HEAD '70MM WASHER SCREW COMA2WHS8X70
14 4 M8 X 80 TORX WASHER HEAD |80MM WASHER SCREW COMA2WHS8X80
15 4 M8 X 100 TORX WASHER HEAD |100MM WASHER HEAD COMA2WHS8X100
16 8 |30MM BOLT COVER 30MM BLACK CAP COMPLACAPO0OO0OO1
17 2 1300 x 300 x 200 0.018M3 CONCRETE FOUNDATION
600 MAX |
DECK TO UNDERSIDE GUARDRAIL ﬁ{_j‘
I
T
; x
‘ <+
|
x|
]
1 NOTE:
‘ ENSURE DISTANCE IS >25MM
| AVOID FINGER ENTRAPMENT o
| A
|
|
|

— 4&: e

1391

?

D

NN

il
o/,
—’

(o

N K

%@\%

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

1 DECIMAL PLACE: +0.5MM

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
+2MM FENLAND LEISURE PRODUCTS. ANY
REPRODUCTION IN PART OR AS A WHOLE
+1° WITHOUT THE WRITTEN PERMISSION

Title:

MOD-600-132 1.5M ORCHARD RAMP

Product Range:

MODULE DRAWING

OF FENLAND

LEISURE PRODUCTS IS PROHIBITED.
online playgrounds

REV:B

DO NOT SCALE FROM DRAWING

Date:

21/09/2021

Page:

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




1. SECURE THE TREADSAFE DECK TO THE TIMBER SIDE SUPPORTS (ITEM 2). AS SHOWN
BELOW SECURE THE TREADS TO THE TOP AND THE SUPPORT ON THE UNDERSIDE
USING THE SUPPLIED FIXINGS.

1893

233 | 372 TYP

4 - e — — s s &L
4 - - e — — & — — a— — —_a L

4 - - e — — s — e — &L

4s - 3 3

NOTE:
TO REDUCE THE RISK OF STEEL GALLING, USE LUBRICANT ON ALL STAINLESS STEEL FIXINGS

2. SECURE THE POST ANCHOR ON THE BOTTOM OF THE SIDE SUPPORT (ITEM 2).
POSITION THE RAMP IN THE FOUNDATION HOLES AND ON THE INSIDES OF THE
TOWER UPRIGHT POSTS ON THE UNDERSIDE OF THE DECK. SECURE IN PLACE USING
THE SUPPLIED FIXINGS.

4. FINALLY, ENSURE UNIT IS LEVEL AND PLUMB, ALL FIXINGS HAVE BEEN TIGHTENED
AND PROTECTIVE CAPS IN PLACE. ADD CONCRETE TO EACH FOUNDATION HOLE AND

LEAVE FOR 48 HOURS

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:

LINEAR: +2MM

1 DECIMAL PLACE: +0.5MM

ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION
OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

Title:

MOD-600-132 1.5M ORCHARD RAMP

Product Range: MODULE DRAWING

online play

O\.P

grounds

DO NOT SCALE FROM DRAWING

Date:

21/09/2021

Page:

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




